PMarme: Date:

Kiwi Fruit Watermelon
12 pence 50 pence

You have been asked to buy some fruit from the supermur‘kef
' War'k cn.rl' hnw much r'r wauld cos'r you 'I'n bLIY

3 bananas = pence
4 apples = pence
3 kiwi fruit = pence
1 pineapple and 2 apples = pence
200 grams of strawberries = pence
4 bananas and 300 grams of cherries = pence
1 watermelon, 1 apple and 2 kiwi fruit = pence

You have been given 50 pence to buy some fruit.
Wurl-'. out how much the fruit will cost, and how much change you should get buck

2 kiwi fruit = _______ pence. Change from 50 pence = pence
1 pineapple and 1 apple = pence. Change from 50 pence - pence
1 apple, 1 banana and 1 kiwi fruit=_______ pence, Change from 50 pence - pence
300 grams of cherries and 200 grams of strawberries= _____ pence. Change from 50 pence= ______ pence.
1 apple, 1 banana and 1 pineapple = pence. Change from 50 pence = pence
100 grams of strawberriesand 1apple= _____pence. Change from 50 pence= ______ pence
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